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" Converts DDD.MMSSs to radians

Public Function DMS2R(dms As Double) As Double
Dim pi As Double

pi = 4# * Atn(1#)

DMS2R = dms2d(dms) * pi / 180#

End Function

' Converts radians to DDD.MMSSsss

Public Function rad2dms(rad As Double) As Double
Dim v, m, S, pi As Double

Dim D, M1 As Integer

pi = 4# * Atn(1#)

10



v = d2dms(Abs(rad * 180# / pi))
Ifrad <0 Then v =-v

rad2dms = v

End Function

' Converts DDD.MMSSs to Degrees
Public Function dms2d(Deg As Double) As Double
DimE, v, m, S As Double

Dim D, M1 As Integer

E=10"-12

v =Abs(Deg) + E

D = Fix(v)

m = (v-D) * 100#

M1 = Fix(m)

S =(m-Ml) * 100#
v=D+M1/60#+ S /3600#

If Deg <0 Then v =-v

dms2d =v

End Function

' Converts degrees to DDD.MMSSss
Public Function d2dms(Deg As Double) As Double
Dim v, m, S As Double

Dim D, M1 As Integer

v = Abs(Deg)

D = Fix(v)

m=(v-D)* 100#

M1 = Fix(m)

S =(m-Ml) * 100#
v=D+M1/60#+ S /3600#

If Deg <0 Thenv =-v

dms2d =v

End Function

' Converts degrees to DDD.MMSSss
Public Function d2dms(Deg As Double) As Double
Dim v, m, S As Double

Dim D, M1 As Integer

v = Abs(Deg)

D = Fix(v)

m = (v - D) * 60#

M1 = Fix(m)

S =(m-Ml) * 60#
v=D+M1/100#+ S/ 10000#

If Deg <0 Thenv = -v

d2dms =v

End Function
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' Converts DDD.MMSSss to degrees, minutes, and seconds (3 separate values)
Public Sub dms2Dms(ByVal dms As Double, D As Integer, m As Integer,
S As Double)

Dim D1 As Double, M1 As Double, E As Double

E =0.000000000001

D1 = Abs(dms2d(dms)) + E

D =Fix(D1)

M1 = (D1 - D) * 60#

m = Fix(M1 + E)

S=MI1-m)*60#+E

If dms <0 Then D =-D

End Sub

' Computes the azimuth from 1 to 2

"in DDD.MMSSss, given x1, y1, x2, and y2

Public Function AzDms(x1 As Double, y1 As Double, x2 As Double,
y2 As Double) As Double

Dim dx As Double, dy As Double, pi As Double

dx =x2 - x1

dy=y2 -yl

If dy = 0# Then

If dx > 0 Then

AzDms =90

Else

AzDms = 180#

End If

Exit Function

End If

pi=4# * Atn(1#)

AzDms = Atn(dx / dy)

If dy < 0# Then

AzDms = AzDms + pi
Else

If dx < 0# Then

AzDms = 2# * pi + AzDms
End If

End If

AzDms = rad2dms(AzDms)

End Function

' Computes the azimuth from 1 to 2

"in radians, given x1, y1, x2, and y2

Public Function AzRad(x1 As Double, y1 As Double, x2 As Double,
y2 As Double) As Double

Dim dx As Double, dy As Double, pi As Double

dx =x2 -x1

dy=y2 -yl
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If dy = 0# Then

If dx > 0 Then
AzRad =90
Else

AzRad = 180#
End If

Exit Function
End If

pi =4# * Atn(1#)

AzRad = Atn(dx / dy)

If dy < 0# Then

AzRad = AzRad + pi

Else

If dx < 0# Then

AzRad = 2# * pi + AzRad

End If

End If

End Function

¢ Adds two angles in DDD.MMSS

¢ The result is also in DDD.MMSS

Public Function adddms(a As Double, b As Double) As Double
adddms = d2dms(dms2d(a) + dms2d(b))

End Function

* Subtracts the second angle from the first, where angles are
‘in DDD.MMSS. The result is also in DDD.MMSS

Public Function subdms(a As Double, b As Double) As Double
subdms = d2dms(dms2d(a) - dms2d(b))

End Function

¢ Computes distance between two points, given X1, Y1, X2, Y2
Public Function Dist(x1 As Double, yl1 As Double, x2 As Double, y2 As Double) As Double
Dist =Sqr((x2 -x1) "2+ (y2 -yl)* 2)

End Function

¢ Computes angle 1 2 3, where azl is azimuth 1 to 2, and az2 is azimuth 2 to 3
Public Function Angle(azl As Double, az2 As Double) As Double
Dim pi As Double

pi =4# * Atn(1#)

azl =azl +pi1

If az2 <azl Then

az2 =az2 +2 *pi

End If

Angle = az2 - azl

If Angle <0 Then

Angle = Angle + 2 * pi

End If

End Function
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